8.3.3c

R code for density plot
plot(density(NGamma),ylim=c(0,0.035));

lines(density(Nlogn),lty=2);
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Interpretation:
Up to 50 the distributions are not so different. After 50 the distributions are not so similar anymore. The tail of the gamma is shorter and goes faster to zero. The tail of the lognormal is thinner and longer and approaches zero more slowly. 

8.2.9c
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Interpretation:
mean(D)

[1] 1.001769

> sd(D)

[1] 0.05574638
If all Tj are equal the coefficient of dispersion D=s^2/nbar can be calculated, where s^2 and nbar are sample variance and sample mean. D fluctuates around one for independent and identically distributed Poisson data since s^2 and nbar are equal in expectation. If D deviates strongly from one, it is a sign of the underlying claim intensities being unequal or the distribution being something else.

In part b) we saw that for Poisson data the D fluctuates around one.
In part a) we saw that D was 1.48.

From a) and b) it is not so likely that the data are Poisson. 

However, we saw in 8.3.5 when the model was extended and lambda was random for each woman, this model seemed more sensible for these data. 
